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Answer either in English or in Assamese.

1. Answer the following questions as directed :
1%5=5

wote Al e MomiE Oes fol ¢

(a) An operating system is a system
software. (State true or false)

S9AIEe BECes bl 5o software.
(5% @ 9% [&731)

(b) The binary number 110101 in octal
format is . (Fill in the blank)

Contd.



110101 binary JItb! octal format ©
7| (T 3Z 979 )

(c) The range of numbers which can be
stored in a char type variable is :

&Gl char type beP® 2 #[1 FRYE AR
3G )

) —99 to +99

(i) —-128 to +128

(i) —128 to +127

(iv)] None of the above
(Choose the correct option)

(7% [Awss! AR Glersd)

(d) Precedence of arithmetic operators are
higher than assignment operator.
(State true or false)

Arithmetic ©?l(<6<9 Precedence of
arithmetic S#ISEI0F @RI

(8% 7 quF [&F0)

(e) library function is used for

dynamic memory allocation.

(Fill in the blank)
‘Dynamic memory allocation ¥
library I IIRE 9 W |

(T 312 =79 )
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Answer any five of the following questions :

2x5=10

weTe Al eI firspie FAishiq Bed B4l

(@)

(b)

(¢

(d)

(e)

What are the major components of a
digital computer ?

%f@?ct?{asf%ﬂ@%mw iR E@R 52

What are the advantages of 2’s
complement over 1’s complement ?

I’s com;plement O(F 2’s complement

RkER /e

List any two differences between ASCII
and Unicode.

ASCII ii% Unicode-3 Rigpien 757 A1 &t |

What are the differences between
compiler and interpreter ?

Compiler ™% interpreter I *NIFER 21 |

What is meant by associativity of
operator ?

Operator ¥ associativity @ & 3&3?
What is L-value and R-value ?

L-value 9% R-value &9
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(g) What is the difference between break
and continue statement ? '

Break ©li% continue statement < #NLFEE
ISR

(h) What are the differences between
malloc () and calloc () function ?

malloc () % calloc () FIBE “AIF@T
ferai |

() What is the difference between
structure and union ?

Structure 9IS union I SHLFEIT for4l |
() What is function prototype ?

Function prototype 2

3. Answer any four of the following questions :
5x4=20

woTe Al eI fgaizan 513619 ©ed i s

(a) Draw a flowchart to find the largest of
three input numbers.

fOG! input 41 AR TIeCH! SRR <6l
flowchart Sia | '
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(b)

(c)

(d)

(e)

_(g)

What are the different datatypes
available in C language ?

C language © 4 [ifed datatypes @
&2

Explain different types of operators
available in C language.

C language © <4l Jfoq eFIRE operators
@I It 4|

Differentiate call by value and call by
reference with suitable example.

Call by value W% call by reference
Si{<lEAR BAIZEE eS|

Write a recursive function to find GCD
of two integers.

B! Se FRAP™ GCD RIS bl recursive
Figoel feral |

What is a pointer ? List the permissible

operations on pointers.

Pointer &? Pointer 3 #5® F{a 2[1

fFaPrRs ol aes |

Write brief description of any five string
manipulation functions.

String W@ ¥4 Rede 50! TG 53
39t forail |
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(h) What is preprocessor directive ? Write
brief description of any three
preprocessor directives.

Preprocessor directive o R fomb!
preprocessor directive 9 Eﬂ?‘f?ﬁ o1l |

4. Answer any one of the following questions :
: 10x1=10

Rrlral @b e Te fordl ¢

(a) What is format specifier ? Describe any
ten format specifiers.

Format specifier 2 Ricpicn #20! format
specifier ¥ EGOIRG RN

(b) Write a program to input two matrices
and find sum and product of both.

w6 matrix 2750 SR FEed @ o
sfReEe] ST B cellet for |

(c) Write a C program to -display the
contents of a file. Also display the

number of characters and lines in the
file.

<51 IBETE A SATNZ (AR <GBl C (2l
o] | FI2eTore o/l SNLTH TR A<
e (myet | _
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(d) Write functions to perform following
operations on string :

String © WxfiiRe fFarme skt wios
feral ¢

() Reverse the string

(ii) Calculate number of vowels in the
- string :
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